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(*) Instructions to candidates:
1) Figures to the right indicate full marks.
2) Use of scientific calculator is allowed

[Max. Marks: 60]

.3) Use suitable data where ever required | -
Question | Question Description Marks | CO Blooms
No. mapped Taxonomy
‘ Level
Q.1 N ein (X2HYRY 2 1 R,U,A
z)z-snn(x+y)1sa (2]
a) homogeneous function
b) Non — homogeneous function
c) homogeneous function of degree 0
d) Homogeneous function of degree 1
. L (x3+y? th xau+ du
i)Ifu = tan = en Fl yay is (2] 1 R,UA
a)sinu b)cosu c)cos(2u) d)sin(2u)
ad
iii)If x = u tanv,y = u secv then the value of (—-v) is ,
' . a;; y [2] |1 R,UA
a)u b) 1 ) " d) e
iV)If u = sin~%/x%2 + y2 then the 2] 1 RUA
value of x%uy, + 2xyuy, + y2u,, is v
a) tanu b) tan?u c) — tanu d)tan®u
-0
vJu=f(r) and r= {x24%y2 then a—i is 2] 1 R,UA
f! ’ X y ’ 1
a) f'(r)x b)f = oOf'(r)< df )<




vi) Find percentage error in area of an ellipse when an error

of 1% is made in both major and minor axes .

r
a)l% b)0% c)2% d) —-1%

(2]

R,UA

x%2 —y? 2xy ‘
iDu= = = 2 R,UA
vii)u 212 VT 1y If JJ'=0 [l
then Relation between u and vis .
au?+v?¢=1 bu?-v2=1 Qu?/v?=1 du*v?=1
viii)f(x,y) = x2+y? + 6x+ 12 ) then 2] R,UA
the minimum value of fat (—3,0)is
a)2 b) 3 Q) —3 d) -2
1 1
ix)Stationary value of f(x,y) = xy + a3 (; + ;) , x>0y >0.is (2] R,UA
a) (—a,—a) b) (a,a) ¢) (a,~a) d) (—a,a)
x)Ifx=rcos® andy =rsin® then 0(x.7) is 2 RUA
a(r,0) (2] >
1
a)r’ b) —r c¢)r d) =
xi) For the function f(x) = sinx, 2] R,U,A
in the interval (0,2m)the value of ayis -
a> b ogzm )2
xii) The value of f dx is [2] RU.A
120 120 24
a) b) c d) None of these
‘g5 Vtoge®  “ogst ¥
1 dx .
xiii)The value of | = s ‘ 2] R,UA
11 51
@38(3.3) ®28(3.3)
c)2pB (Z. '2‘) . (d)None of these
g 2] R,UA
xiv) The value of f f Vsinx dx is
o Vsinx
a)l b)m C)'E d)0
s
3
"xv)The value of f sin720 do is 2] R,U,A
' 0
3 3 8 3
@35 b7 935 Dz
Q2 Solve any two out of three
x
a)(1 + log(xy))dx + (1 + J—,)dy =0 (5] R,UA
dy (5] R,U,A
b) tany — + tanx = cosy cos3x '+
) y dx y [5] R,U,A

¢) Find Orthogonal Trajectory for r = a(1 — cos)




Solve any tﬁo out of three

Q.3
a) y?(a? — x?) = a3x [5] |5 R,U,A
bjr = acos 20 51 |5 R,UA
¢) x = a(t —sint),y = a(1 — cost) [S] |S R,UA
Q.4 Solve any two out of three
o a pVa?-x? [5] |6 R,UA
a) Evaluate f f e~(*+¥%) dx dy
; 01 ol—x x+y . [5] 6 R,UA
b) Evaluate f f f .eYdx dy dz
0 Jo (]
c) Find area bounded by the curves y? = 4x and [5] 6 R,U,A

line2x—3y+4=0




